EARAROBREBRT —5 XN—ZXBISH—F

2022618228 (£) 1@417H

R PEEXY:

KREEF FSiin

‘(fﬁ} W ‘I%EH?’JF&] | & 15000 =

[AE%] 1 7%:5,200,000 § ~ 237 :2,100,000 @ .~ 37 :1,300,000 4 3&:780,000 § . 5 7&:520,000 H

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ IV — N JLHERS : -12-9- hEIRE (EH)
1 5 | A—HYN—=V7 B3 o 1.(5_6).8 12-12-9-7 |38.7| 83.5 | 3 (3?421) $§
RiRyI—=9ILYI &:9—Fvyadb— WiE=2e)
= /-~ sy KEPIRREL : -3-3- KEFEIL ()
2157 |31V XvtE—2 [B] R A4 1(75?3 SN A I ff(g AERE
R:drrEyX B:0OX5 FEH A3
. s, 1N - : -4-4- FHE= EH
318|112/ FI—2TF)b [B] 3 LRT 1'(537)'3 A 09 810 ‘:g;) Eﬂ%gﬁzﬁé )
Ri¥YUSTviRk B:T7ILT7S TURBUS
— 3 g 43 | ENEBEE 1:57.6 6-6-7-7 | 40.0| 78.1 | 8 | 462 |HHE (=)
a5 | AP—LYvED 5.0 (1172 Ly | EEE—
RN—EVIv— BARZTIY7T—7 HEIT7—L
o BBt : -8-6- TEEESE (EH)
5 3 S F v RI— 4 3 2 1(75{:)6 7-8-6-6 | 40.6 | 78.4 7 (é_lzz) /JE:M,E..E@L\
RFEVI/AVD BINATSY FES
S~ 4 3 | MEES 1:58.0 4-5-5-4 | 41.4| 75.8 | 6 482 | PEBERC ()
6 4| 9MVY 56.0 21/2) (g |EMEXS
RiRSAYF Bifd—N—Ea1— J=IVR7ZyTFhYINZ—
SS0)~ 4 3 | WHEEE 1:58.3 10-10-10-9 | 39.9 | 72.5 | 13 | 4% |/Av&alME (=)
7|8[13|F¥YY £54.0 (a'3/8) o |TiEx
RITAYVEAY BN\YAVH RUFRF—T I
Yy S 3 | #LUR®E 1:58.4 1-1-1-2 [43.2| 74.5 | 1 548 | RHEST (BER)
8|5|6 | FyFrT " 56.0 (71) ) | ® RU—IAFL—yVT
R:Curlin B:7IWFUYTRAI— /=3I r—I
°__ o B3| ABHER 2:00.1 10-10-11-11| 41.2 | 59.3 | 11 | 488 |HALLAFH (GS3@)
917|111 727 AN=Y 56.0 10 () |KHiE
Ry RZN=F BNSIAZAFvU— S8 JEE
PSS ~ 4 3 | ATS 2:00.1 7-8-11-11 | 41.3 | 59.3 | 4 506 | LHiR ()
100101 b—tEYI19> 56.0 N\F) (g) | BIIES:
RiFVITHARNRXN B h—EIRZHTS BRAEM IXF«T7—LA
= T 3 | R 2:01.5 2-2-2-3 | 46.3| 57.8 | 2 484 |EKETE (EH)
17|10\ 71T ARV T .0 ) (o) | EETE
R:0394F LY h— JOFHhT7—L
' IRl : -7-8- TEBE (E9)
12 g| S TIAAD [B] 53 IBEIR 2.&2).1 7-7-8-10 | 44.1| 49.7 | 12 52(1);) oeE
RN—EVIv— B:/FAHh—Lvh AHIHIG
= . BLETA : -13-13- oERE (EH)
13 g EEFAUIYE B3 e (21012/43) 13-13-13-13| 40.5 | 41.7 | 10 (313) ﬁﬁﬁ:#
R:5TU—FA B:IFVFvT V& SHis
[ BN
Eh' 54.7-41.6
NOVI AL | 12.9-11.6-12.4-12.6-12.6-13.1-13.6-13.5-14.5
@ 11— —BBIEfI
13—7— (+6,10)=7-(4,12)-5(1,3,8)-(11,13)-2,9
20—F— (x6,10)=7,12-4-5,8(1,3)-(11,13) 2-9
Jal=zr= (+6,10)-7-12,4-3-5-8,2-13-(1,11)=9
43— — (6,*7)-10-(12,4)-3-(5,2)-13-8-(1,11)=9
o ILRE
B B 2 540M4 JA R 2-7 990 & 2-5 470M4 3EE 2-7-12 24,820/
g B 2 280 2-12 2,290 5 & 2-7 3,510 3EH 2-7-12 103,580M4
7 5204 7-12 4,570 =51 2-7 6,030
12 1,020

ABIC OV TRUTEREERRODDZE. THRIIZEL.




